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B+ HAS | BEG® #2E R N R BfR%
9 B 10 B| St.24 |36 E00.00 4>|133 FE 30.00 % L L
9 B 10 B| St.25 |35 & 40.00 4|133 fE 30.00 4 |11{E{k (& 450m) L
9 B 10 B| St.16 |35 £ 43.0 4| 134 & 15.0 % L L
9 B 11 8| St.23 |36 E 30.0 4| 133 & 30.0 % 1L L
9 B 11 B| St.22 |37 E£ 00.0 4| 133 B 30.0 % | 11B4k (&% 62cm) L
9 B 11 B| St.21 |37 £ 30.0 4| 133 B 30.0 % L L
9§ 12 B| St.20 |37 FE 30.0 4| 134 B 15.0 % | 1{E4& (%4& 69cm) %L
9§ 12 B| St.19 |37 £ 00.0 4| 134 & 15.0 % 1L L
9§ 12 B| St.18 |36 £ 30.0 4| 134 & 15.0 % 31@91%@;%_5?)5%‘ 7L
9§ 13 B| St.17 |36 £ 00.0 4| 134 & 15.0 % L L
9 B 13 B| St.15 |36 £ 00.0 4| 135 B 00.0 % L L
9 § 13 B| St.14 |36 £ 30.0 43| 135 & 00.0 % L L
9 F 14 B| St.13 |37 £ 00.0 43| 135 & 00.0 % L L
9§ 14 B| St.12 |37 £ 30.0 4| 135 & 00.0 % L L
9 A 14 B| St.11 |38 & 00.0 4|135 B 00.0 & | 1{E{K (%% 70 cm)| 1 &K (Z&ZE 60 cm)
9 B 15 B| St.10 |38 £ 00.0 4| 135 B 45.0 % | 1{E{k (& 60 cm) L
9 B 15 B St.9 |37 FE 30.0 4| 135 FE 45.0 % | 1{EK (&R 51 om)| 4ME{k (&4E 50~60 cm)
9 A 15 B| St.8 |37 FE 30.0 4| 135 [ 45.0 % 31@6?‘0(?%13:1)""‘* L
9§ 16 B| St.7 |36 E 30.0 4| 135 & 45.0 % 1L L
9 B 16 B St.5 |36 F 30.0 4| 136 B 07.5 % L L
9 B 16 B St.4 |37 E 00.0 4| 136 B 30.0 % L L
9 B 18 | St.6 |36 K 00.0 4| 135 £ 45.0 % L L
9 8 19 | St.1 |38 f 30.0 43| 136 f 30.0 4y | 2TEHE &fﬂ? 89cm. L
9§ 19 B St.2 |38  00.0 4| 136 & 30.0 % AL 1A (&4 60cm)
9 B 19 B| St.3 |37 E 30.0 4| 136 & 30.0 % 1L L
9 § 10 B| St.24 |36 E00.00 4>|133 & 30.00 % L L
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